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CLASS SCHEDULE

DATE TOPICS & SUB TCPICS

14 -11-2023 Simplification Part 1 — VBODMAS, JARE & CUBE ROOT, POWER &
INDICES, FRACTION SO
15-11-2023 Simplification Part 2 — ALGEBRA, WORD PROBLEM (Equation solving)

20—-11-2023 Percentage Part1 A\(}//
21-11-2023 Percentage Part 2 - Profit & Loss, Discount, GST

27-11-2023 Simple Interest

28 -11-2023 Compound Interest Part 1

04 -12-2023 Compound{x‘@?est Part 2
05-—12 -2023 Time & Work

11-12-2023 LeastCommon Multiple (LCM)
12 — 12 — 2023 Highest Common Factor (HCF)

18— 12— 2023 Ratio & Proportion Part 1
19-12-2023 Ratio & Proportion Part 2 — Ages, Mixture & Allegation

CLASS NO
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25 - 1%;6023 Area Part 1 — Square, Rectangle, Circle

26 —12—-2023 Area Part 2 —Triangle, Quadrilateral, Trapezium, rhombus
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CLASS SCHEDULE

01-01-2024 Volume Part 1 - Cube, Cuboid, Cylinder
02-01-2024 Volume Part 2 — Cone, Sphere, Hemisphere
08-01-2024 Time & Distance

09-01-2024 Number system (A.P)

15-01-2024 Number system (G.P)
Il 16-01-2024 Logical Reasoning

21 22-01-2024 Puzzles & Dice

Pl 23-01-2024" ‘Alphanumeric Series

“ 29-01- 2@2@'} Visual Reasoning

21 30-01-2024 Probability

“ 31 —\02153\—‘2024 Miscellaneous — Statistics
.| 17-02-2024 Maths Revision 1

_ N{I@‘: 02-2024 Maths Revision 2




SIMPLE INTEREST (&6vfl6uL_lg)
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SIMPLE INTEREST (&6vfl6uL_lg)

TYPE1:TO FIND S.I

Find thg¢Simple interesy on ¥35,000 at 9% per annum for 2 years?

335,000 6@ % sfislb @retiyr HEHEEESS Sollau GWE Sreds.
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SIMPLE INTEREST (&6vfl6uL_lg)

TYPE1: TO FIND S.I

Arjun borrowed a sum of ¥ 5,000 from a bank at 5% per annum. Find theinterest and amount

to be paid at the end of three year.
AT eg=et1 G(IH EUMRAIOIBHE 2eToTbES 5% Uiy 6figb T 5000 s &L sl UHOIT. cLHeITm)
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SIMPLE INTEREST (&6vfl6uL_lg)

TYPE1: TO FIND S.I

Which among the following is the si[vﬂb nterest for the principle of ¥ 1,000 for one year at
the rate of 10% interest per annum?

fetreuneueTeumniled ergy I 1,000 2180168608 eIneivibédd 10% sieom efissdled seufleuliquin@i.
(i) 2200 (i) X 10 j(i‘ﬁ)/? 100 (iv) T 1,000
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SIMPLE INTEREST (&6vfl6uL_lg)

TYPE1: TO FIND S.I

2021 GROUP 4

Find the simple interest on 3 7,500 at 8% per annum per 1 year 6 months

T 7,500 &3 8% eul_ig. 6igtd @ auBL-Lb 6 wgnsErssTar safl Ayl sras.
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SIMPLE INTEREST (&6vfl6uL_lg)

TYPE1: TO FIND S.I

Find the simple interest and the amount due on Rs. 6,750 for 219 days at 10% per annum.
mmurd 6,7508@ 21&“_5@3@ 10@% afleuL_tg. &HTewTs.

(A 205 | - (B) 305
©€) - D) 415
/9;




SIMPLE INTEREST (&6vfl6uL_lg)

2022 GROUP 4

A farmer borrowed Rs. 20,000 from a money lender at 4.5% per annum
in simple interest. The amount paid by him to clear the loan after a
period of 5 years is

(A) T 4,500 ~ (B) 215,500

(C) 17,000 | @

(E) Answer not known

~ (B), 215,500
(€)' 17,000 224,500
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SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 2.1: TO FIND PRINCIPAL

Sheela has paid simple interest on a certain sum for 4 years at 9.5% per annum is ¥21,280.
Find the sum.

afeon eretTueul @@ GBI L g»&g,u &1 (b & @& 9.5% Qut1g sﬁgpggﬂ

b e1FQG et eTeufleb] AFEMEDE HTETOTS.




SIMPLE INTEREST (&6vfl6uL_lg)

2021 GROUP 4

Find that will yield a simple interest of Rs.300 in 3 years at
2% rate of interest per annum. e A

(AY" Rs.5,000 Q\ = 200
(B) Rs.3,000 n = 2ye
(C) Rs.2,000 S\Y S50 £
(D) Rs.1,000

(E) Answer not known
<4, 6807 : b 2% digb 3 a(aE sl ety m.300 deoLs@n aafld
V& &ITenr 3

e ' = 0oL
@A)  .5,000 | A b5—e0%
(B) ®.3,000 &E{X%> X\? — m
©) .2,000 SN T e

D) .1,000

(E) ofenr Qsflweiicoana




SIMPLE INTEREST (&6vfl6uL_lg)

2021 GROUP 4

What@ will earn Rs. 500 as est in 1 year at 5%
per armum? A 3

(A) Rs. 50,000
(B) Rs. 30,000

(&yRs. 10,000
(D) Rs. 5,000

(E) Answer not known

erehE 5% ey S55Hd @ e . 500 s sefl eulquirss s
SNFED _GIEEIETER? ®L £ , Ui

@A) . 50,000 S e ' |, o
B) . 30,000 ) @2/ > @ ®

&4 SO0
(©F . 10,000 g\\ % .
(D) . 5,000 ——B/ : :

(B) ofer Qsfweldama




SIMPLE INTEREST (&6vfl6uL_lg)

2021 GROUP 4

A person decides to create a fund to be invested at 10% per annum to
provide or prize of Rs. 500 every year. The Initial investment is

(A) Rs. 4,000

(B) Rs. 5,000

(C) Rs. 61,000

M) Rs. 5,500

(E) Answer not known

@ Hul eeQeun(s e @Iﬂ&. QUNIELE G 1) BITE %e&urQé; :

MU 2 GaITEs (PgQ] Cesnifpri era

@A) . 4,00 | ~=w/ . i
B . 5,000 EA K? AP\ = 50e0
©) . 61,000 . LAl

L = 5000

D) m. 5,500
(E) &l Qsflueloema @




SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 2.1: TO FIND PRINCIPAL

A principal lecomes 317,009 at the rate of 12% in 3 years. Find the principal.
QW egnemsnars 3 Jyevosele 12% seaflaly dssda  dgnens T17,000 w&é

aﬁlamQ; srsoﬂeu amg;g; QBTN HDILE SHNERTE.
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SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 2.2: TO FIND NO OF YEARS 0

In What time will 16,500 amount to 322,935 at 13% per annum?

2 TbES (13%/ e’y issde @ asmensd 716,500 )QMrEhal 616HSmeT 4 600r(heefled
122,935 248 2 _wiHD?




SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 2.2: TO FIND NO OF YEARS

In wh?@ willR 17800 g}nount tt 6% per annum?

EbES 6% alydissded @b asnensd 17,800 QOlGhHa aToHIHemer yeurbaerfle

119,936 248 2 wWiHD?
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SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 2.2: TO FIND NO OF YEARS

In how much time will the simple interest on ¥ 3,000 at the rate of 8% per annum be the
same as simple interest on 4,000 at 12% per annum for 4 years?

13000 2160168 26000 :v. AURIGLILIGBLD Sevfleul g wimenrg) < 4,000
AF)E@ %sdmmé@&,@;é@ QURISLILIGLD Seuflaul 1 &E

6TEOTEDT 2




SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 2.3: TO FIND RATE OF INTEREST

A sum of 48,000 was lent out at simple interest and at the end of 2 years and 3 months the
total amount was ¥ 55,560. Find the rage of intprest per year.

&L 0TS eUpMISLIULL 156D T 48,000 @&@ 2 q,sovr(b&.m 3 LSS HsM&HH NG Ve Sevfleul g
elpeold eumLILLL ewn&ss ag,nan 2 & QHHs 5 erefled, @il efisHmas Enens.
%’ODD }( )Z’{

P\ D, DbC 5’00 :/%}E‘%




SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 2.3: TO FIND RATE OF INTEREST

Basha borrowed ¥ 8,500 from a bank at a particular rate of simple interest. After 3 years, he
paid 11,050 to settle his debt. At what rate of interest he borrowed the money?

urL e eTebTLIET 6@ eumidlulefBha @k GHIUILL seafleuly eigsHe I 8,500 p& sLamaL
aug')g)/n['r. coeoTm) Spetorh&eT HlS& eul T 11,050 p& asaidbdlé sLemer JemL SN ereufled
—_— N\
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_ $50
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SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 3: GIVEN ‘N’ — FIND ‘R’/GIVEN ‘R’ — FIND ‘N’

If a principal is getting ed after 4 years, then calculate the rate of interest.

&Il SiFeoneTg) 4 Spevorb&erled ‘a WL ThGn#ng) ereufled, Ul 1 6lis5emss sneturs.

n=2.h
@\L = (@) xee
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TYPE 3: GIVEN ‘N’ -

SIMPLE INTEREST (&6vfl6uL_lg)

FIND ‘R’/GIVEN ‘R’ — FIND ‘N’

A sum of money triples itself at 8% per annum over certain time. The number of years is

equal to

— E—

ﬂm’wﬂ'! Wy le g GHUGC L Sz 8% il eSizsHd apanm L kisTELb

@A) 24
@ 25
©. 20
D) 12
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SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 3: GIVEN ‘N’ — FIND ‘R’/GIVEN ‘R’ — FIND ‘N’

How much time will it take for an amouto double at a sirﬁple mterest rate 8%
N i . ’_\ : \

8% gefleul g aigsde T 2,000 et Qg,rran&; @m’.upi_lums LOIT M) 6 &1 & Tl w ssnéuLb GTEaTET ?

(A) 25V, yem@sar - . B) 10Y% oy@@sd

(©)  8Y syan@sen - l(D) 12 %ah
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SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 4: GIVEN TWO AMOUNT - FIND ‘P’ OR ‘R’

In simple interest, a sum of money amounts to 36,200 in 2 years and 6,800 in 3 years. Find
the principal and rate of interest.

806 OFTENs b GUILTILL Seuflauliy clisd e 2 gyetonbaafld 2Lb, 3 2y evor(b&erled

{6,800 5xgoreyld 2 _wWifmg) ereufled 2Ubh&S OGTENSHMWLD, 6ULIY 61SEMSWLD STETOTs.




SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 4: GIVEN TWO AMOUNT - FIND ‘P’ OR ‘R’

A certain sum of money amounts to Rs.10,400 in 5years and to Rs.9440 in 3
years respectively. Find the principal (in Rs)

U @@U ML 91560 QST meorg) SeoNeullouiled 5 SuerB&emed ¢ib.10400
c%asmﬁn 3 SI(h&Hafey €5.9440 9,660 WMTMIHMS 6T6sfleL HF6L eT6UAIETEY
(empLIMII6V)

a) 6000

h)—8000
c) 9000

d) 10,000

= . 260 -@




SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 5: GIVEN FRACTION/RATIO

Find the rate percent at which sum of money { 1\@ 7/6 time in 3 years

3 QU(HLMGaT6L (7/6 Lm_rm&,r@ S &CILD6BTIEL G 60T 6L Lg.




SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 5: GIVEN FRACTION/RATIO

. : - JEICR
Find the rate of interest at which, a sum of money becomes — times in 2 years.

P DiFOTETG 2 m@;g@a@m&m 2,&@wefle, emasan ety eNfSID eTeitceTe,?
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(A) 691% | nz 2
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SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 5: GIVEN FRACTION/RATIO

Simple Interest on a sum of money fetches an interest equal to its one fifth after 8 years. What is the
rate of interest per annum

(I AN Qg,rrmaaés@@gfm@&,aﬂd) SMLSGLD &6vileUL_LqUITESISH| & 60I160
Gumev((1/5 DL MIG 6T6fleL 6L _lg G)fng 6T6OT60T 2 T
~— — =7 - \
a) 5% /S N - % / l /\_ — /5 F
b) 4% P v
c) 2.5% 6

d) 10%




SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 5: GIVEN FRACTION/RATIO

Simple Interest on a certain sum at an annual interest ié@the sum. If the sum representing
. . PR X
rate percent and time in years be equal, then the rate of interest is

@@ GOUINLL FN&HS @@uml_l_ 6)JI_I.q. 65 & e eﬂml_aa@m Gevfleul_lg
SIGH6I_3IFmeL_GLIMeL 1/9 LOL i@ %@m TM&EE 6ULPMISLLIEHLD
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SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 6: INCREASE IN R

A sum was put at smpIe mterest at a certam rate for 2 years. Had 1t been put at 3% higher
rate, it would have-fetched Rs 300 more. Find the sum. ‘

Y0 Glgrrmsu.marg 2 q,asr@s@s@ paﬂmuq aﬂﬁggﬂm Gm&.s&uu@ﬁmg 2Cs Qgrram 3%




SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 6: INCREASE INR
Rs. 800 amounts to Rs 920 in 3 years at 31mple mterest If the interest rate 18 mcreased by

3%, it would amountto o _
m. 800 _~:,- 5 gaﬂa.u_q aﬁgg,wsaﬁm . 920 Q,ﬂ;pgu 2ie euLly sﬁpm 3%

sifaflasiin® ' Gung al(ﬁgs Sisoneng) 3 yamRsailer e _ \
(A),‘ . 1_,092
(©) @ 1,882

®) . 1,182




SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 6: INCREASE IN R

Rs. 800 becomes Rs. 956 in 3 years at certain simple rate of interest. If the rate of interest is
increased by 4%, what amount will Rs. 800 become in 3 years?

GHLACL gafloul . aigsdld, . 800 syang epampranBaaiicr m..956 26 e widpg. sefloy
a‘:'ggmwsrﬂougrréx epanprasr(HsEnd@L Ger . 8006 wHiL, 6THSS CsTanswns wirmb?

A) @ 1,020.80 ®) @ 1,025
©) ¢ 1,052 D) . 1,080.20 .
. _ @_—% N @b N B
4 -\
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SIMPLE INTEREST (&6vfl6uL_lg)

2022 GROUP 4

The differeﬁce between the simple interest received from two different
sources on ¥1500 for 3 years is ¥13.50. The difference between their rate

ofinterestisv , ?‘(\\Q N ° Yz '_; \’&.5
A 0.1% 1 ' . '»/Y,D’O— \0©
B) 0.2% |- | 2 NS
\SepP ¥ O\
oroan | D (Y
O 0.4% - =\
(E) Answer not known' % X (Y \ = o

z

4 @3 < anpsaion Qm Gm@@m@ B miseficr @@ﬂs@ 3T gaﬂmiqmﬂdr 2 ‘ /
epBumed ¥ 13.50 srafléd aui iy aSpmseiar alsBunsid | @ .

A) 0.1% _ A\ GED
®) 0.2% f\“‘; ¢ | \
©Ovl3% ~F— 3" = 24¥s
D) 04% .?5\ = | *(L—_?

(E) e Qsflweicdreng g&z @ ' g:.\_




SIMPLE INTEREST (&6vfl6uL_lg)
TYPE 7: P DIVIDED INTO TWO PARTS

that lent at 8% is 9/1-\ X bﬁ. = )/:Do D"D QZYS'SD v L;)
m. 1,.550-0 em ugH 5% iy SpsdnEn wHD u@@ 8% eul g GISSEDID gaﬂmi%qas@ &GS Cao
—

QaTR&ESLILLLE. ApeTn auBLESEREEU GYn@ Hoseb bwrss aulgyureag . 500 Grasﬂev

- e s;aﬂemaﬂé]g,mr\ﬁ QDX%>><DQ . (@ k\g%wx)
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SIMPLE INTEREST (&6vfl6uL_lg)

TYPE 7: P DIVIDED INTO TWO PARTS

A sum of 1500 is lent out in two parts in such a way that the simple interest on one part at 10% per

annum for 5 years is equal to that on another part at 12.5% per annum for 4 years. The sum lent out
at 12.5%is (in Rs)

¢h.1500 SYeu1sH Qb UGHWITE Nf§F SLes QUPRSLLGEDS. HHD @
U@;f,]smu_l 0% il lg af55SlL 5 anEsEhsGW, LHEDTEH UGS ea0HES

125% QI g IH&SH60 4 TBEES@D UPRGD eIl ly §lblb. 12.5% ULl
eﬁ%ﬁ;‘:\w snlprm&,uu@% >

a) 500 5@4%\590’3( T ©

b) 1000 - :
0750 5% > \ o
d) 125\0 SO - fISno—g}

')/




SIMPLE INTEREST (&6vfl6uL_lg)

The cost of a dining table is Rs. 8,400. A wants to buy it in 10 mstalments ‘His EM.L is
Rs. 875. Find the rate of interest?

@ eawey Gumsfear oL éseleme . 8,400) A @w@wmsmu.gg,gmmwasaﬂw Qum

Baoasdlori. sieung wrss gmmammﬂ@m ETEITGHT ?
A 3% ) 5%

© 8% | D) 10%
15 KO
5 % Z%%A? - ﬁi?—waxw
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HOMEWORK - SIMPLE INTEREST (&6vfl6uL_Lg)

Aravind borrowed a sum of 38,000 from Akash at 7% per annum. Find the interest and

amount to be paid at the end of two years.

2ireliih & eredtUieuiT T 8000 g, 24 &6l eredTLEUTIL L (HiH &) 2 0oTbéS 7% Seuflenliy 6figib &L eornall
eubmni. @uetrh ibsaflar wueld araihd 6FIES Geuargl Seufleulqemwiybd
ANESS OSTENSHEMWIWLD &HT6E0Ts.

Stephen invested 310,000 in a savings bank account that earned 2%
simple interest. Find the interest earned if the amount was kept in the
bank for 4 years.

eolelledT eTedTUCN] SHeors eurhldlulenr Gadlliyg sevmdded 10000 & 2% seflauy 6figdsle
W0 eELIBNT ereufled, 4 2y evorb&aTleoT (igeiled seuT OUMID Sevfleul’y ereleueTey?




HOMEWORK - SIMPLE INTEREST (&6vfl6uL_Lg)

Riya bought ¥ 15,000 from a bank to buy a car at 10% simple interest.
If she paid ¥9,000 as interest while clearing the loan, find the time for
which the loan was given.

il eredTUENT WO&(RHEI euNTRlGeusnH&EnS I 15000 & 10% sevflaily. steotm
efizsdled &Lemall eunhmnd. 6ui 9,000 3& SLemedt (101 &G0 SHIHeUmuileD,

aluIngd agsHleorn erenfled, SLemedTl UWeTUbSSN!  HTed &S
S0 HE(bS.

Rs.1200 amounts to Rs.1632 in four years at a certain rate of simple interest. If the rate of interest is
increased by 1%, it would amount to how much?

efalllguiled GHUALL eIl lqaissglev gwsu Ch.1200 4,601
C5.1632 &M 4 LEVTI(H&SHATEL LOT g)gﬂ GLOgID UL IgeI&HLD 1%
SIFSHSHSLLLL TV HOLSHGLW ClTHE CHTens 6T6U6I6TE)

a) 1635 b)16411 <¢) 1670 d) 1680




HOMEWORK - SIMPLE INTEREST (&6vfl6uL_Lg)

A certain sum of money amounts to Rs.10,400 in 5years and to Rs.9440 in 3 years respectively. Find
the principal (in Rs)

@@ GOUULL 9560 CHTMSHWITEIH SHevileul lguied 5 o 6ur(h&Heailed ¢p.10400
56D, 3 YO (H&HeN6L €5.9440 QL&D TMIEMSGH 616160 IF6L 6T6U6ETEY
(erpumuilev)

a) 6000 b)8000  ¢)9000  d) 10,000

A certain sum of money amounts to Rs.6500 in 3years and to Rs.5750 in 1% years respectively. Find
the principal (in Rs) and rate percent?

@@ GOUULL Q& TemSWTarg 3 9,6 (B&emNed €5.6500 &6 LD, 1% 96901 (h &61fl6vL
€6.5750 P&HED LTMISMEl. SIFL WMMID UL IqeHLD ST

a) 6000 & 10% b) 5000 & 10% c) 6000 & 8% d) 5000 & 8%
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